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7 100kN/mM%#BZ 5 -~ -|3mEBZD -~ - -| 100kN/m%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 5.74 71.79 | FnLS | 000 ~ 574 1.82 974 st 1.00 | 6.00 ~ 6.50 71.79 | ThSY | .00 ~ 6.50)| 1.82 9.74
2 100kN/mM##BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.22 78.04 | FnLS | ooo ~ 622|176 940 st 1.00 | 6.00 ~ 7.20 7804 | TS | 5,00 ~ 7.20)| 1.76 9.40
3 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 711 90.38 | =hLs | 000 ~ 000 1.72 918 st 1.00 | 5.00 ~ 9.00 90.38 | =h4 | 5.00 ~ 9.00| 1.72 918
4 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.80 85.98 | #nS | 0.00 ~ 680 | 1.96 10.49 st 1.00 | 6.00 ~ 9.10 85.98 | =h4 | 5.00 ~ 9.10| 1.96 10.49
5 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 714 90.72 | =S | 000 ~ 7.14| 1.83 979 st 1.00 | 6.00 ~ 9.11 90.72 | #hS | 5,00 ~ 911 1.83 979
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 538 6711 | FnLSY | 0.00 ~ 538 2.30 12.531 st 1.00 | 6.00 ~ 9.77 67.11 | =hst | 5.00 ~ 9.77| 2.50 12.31
- 100kN/mM%#BZ 5 ~ -|13mEFBZB| 000 ~ 008| 3.13 16.76 | 100kN/m#%#B 2% ~ -|3mERBZ 3| 5.00 ~ 9.14 | 3.13 16.76
s 1.00 | 0.00 ~ 137 21.21 | EnLS | 008 ~ 1.37| 3.00 16.05 st 1.00 | 6.00 ~ 9.14 21.21 | ThSY | .00 ~ 5.00| 3.00 16.056
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.04 62.75 | FnLSY | 0o0o ~ 504|232 12.40 st 1.00 | 6.00 ~ 9.14 62.75 | ThS | 6,00 ~ 9.14 | 2.52 12.40
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 7.36 93.85 | =hLs | 000 ~ 000 1.65 8.84 st 1.00 | 5.00 ~ 9.90 93.85 | #hLS | 5.00 ~ 990 | 1.65 8.84
10 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 713 90.63 | =nS | 000 ~ 713\ 1.79 9.66 st 1.00 | 5.00 ~ 9.00 90.63 | =h4 | 5.00 ~ 9.00| 1.79 9.66
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ Fhst ~ FhLst ~ zhLst ~




